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1. The ESI Act was promulgated in the year __________. 
 

(a) 1951 
(b) 1950 
(c) 1949 
(d) 1948  ANS                                                      

 

1. bZ,lvkbZ vf/kfu;e o’kZ-----------------esa iz[;kfir fd;k x;k Fkk 

 

(a) 1951 
(b) 1950 
(c) 1949 

(d) 1948                                                

 

2. ESI Corporation celebrated 2011-12 as its _________ 
 year. 
 

(a) Silver Jubilee 
(b) Golden Jubilee 
(c) Diamond Jubilee ANS 
(d) Platinum Jubilee                                         

 

2. bZ,lvkbZ fuxe us 2011&12 dks vius-------------------o’kZ ds :i esa 

 euk;k 

 

(a) jtr t;arh 
(b) Lo.kZ t;arh 
(c) ghjd t;arh 

(d) IysVhue t;arh 
 

3. It is the responsibility of the employer to register their 
 Factory under the ESI Act within _________ from the 
 date of its applicability to them. 
 

(a) 10 days 
(b) 15 days ANS 
(c) 20 days 
(d) 30 days                                                     

 

3. ;g fu;ksDrk dh ftEesnkjh gS fd og ftl rkjh[k dks bZ,lvkbZ 

vf/kfu;e ml ij ykxw gqvk Fkk] mlls---------------fnuksa ds Hkhrj vius 

dkj[kkus dks bZ,lvkbZ ds v/khu iathd`r djk, 

 

(a) 10 fnu 
(b) 15 fnu 
(c) 20 fnu 

(d) 30 fnu 
 

4. In a period of 12 months, there are ______ contribution 
 periods. 
 

(a) six 
(b) four 
(c) three 
(d) two    ANS                                                       

 

4. 12 eghus dh vof/k esa--------------------va”knku vof/k;ka gksrh gSa 

 

(a) N% 
(b) pkj 
(c) rhu 

(d) nks 
 

5. Temporary Identification Certificate is valid for a period 
 of ________. 
 

(a) three months ANS 
(b) four months 
(c) six months 
(d) twelve months                                          

 

5. vLFkk;h igpku izek.k&i=---------------vof/k ds fy, oS/k gksrk gS 

 

(a) rhu eghus 
(b) pkj eghus 
(c) N% eghus 

(d) ckjg eghus 
 

6. Which of the following relatives of an insured person is 
 covered under the definition of ‘Family’ without being 
 dependant on the earnings of the insured person? 
 

(a) Spouse      ANS 
(b) Minor child 
(c) Infirm child 
(d) Parents of the insured person                 

 

6. chekd`r O;fDr ds fuEu esa ls dkSuls laca/kh chekd`r O;fDr dh vk; 

ij vkfJr u jgrs gq, ^ifjokj* dh ifjHkk’kk ds v/khu “kkfey gS\ 

 

(a) thoulkFkh 
(b) vo;Ld cPpk 

(c) v”kDr cPpk 

(d) chekd`r O;fDr ds ekrk&firk 
 

7. 9th Annual Central Sports Meet of the ESI Corporation 
 was held at ___________. 

(a) Chennai 
(b) Chandigarh 
(c) New Delhi ANS 
(d) Ahmedabad                                               

 

7. bZ,lvkbZ fuxe dh 9oha okf’kZd dsUnzh; [ksydwn izfr;ksfxrk------------esa 

 vk;ksftr dh xbZ Fkh 

(a) psUubZ 
(b) paMhx<+ 
(c) ubZ fnYyh 

(d) vgenkckn                                            
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8. An insured women is entitled to ______________, the 
 day she enters an insurable employment. 
 

(a) Medical Benefit  ANS 
(b) Maternity Benefit 
(c) Confinement Expenses 
(d) Sickness Benefit                                         

 

8. chekd`r efgyk ftl fnu chek;ksX; jkstxkj esa izos”k djrh gS]----------

-----------dh gdnkj gks tkrh gS 

 

(a) fpfdRlk ykHk 
(b) izlwfr ykHk 
(c) izlokoLFkk ykHk 

(d) #X.krk ykHk 
 

9. Which of the following benefit is not admissible to the 
 family members? 
 

(a) Medical Care 
(b) Artificial Limbs 
(c) Funeral Expenses on death of an insured person 
(d) All of the above are admissible     ANS                                

 
 

9. ifjokj ds lnL;ksa dks fuEu esa ls dkSulk ykHk vuqeR; ugha gS\ 

 

(a) fpfdRlh; ns[kHkky 
(b) d`f=e vax 

(c) chekd`r O;fDr dh e`R;q ij vUR;sf’V O;; 

(d) mi;qZDr lHkh                           
 

10. Which of the following bodies is constituted from 
 amongst the members of ESI Corporation? 

 
(a) Regional Board 
(b) Medical Benefit Council 
(c) Standing Committee    ANS 
(d) All of the above                                          

 

10. fuEu esa ls dkSuls fudk; dk xBu bZ,lvkbZ fuxe ds lnL;ksa esa ls 

fd;k tkrk gS\ 

 

(a) {ks=h; cksMZ 
(b) fpfdRlk ykHk ifj’kn 
(c) LFkk;h lfefr 

(d) mi;qZDr lHkh  
 

11. The Indian Parliament consists of: 
(A) Lok Sabha, Rajya Sabha and the President ANS. 
(B) Lok Sabha and Rajya Sabha 
(C) Lok Sabha and State assemblies 
(D) Lok Sabha only 

11. Hkkjrh; laln ds vax gSa% 

(A) yksd lHkk] jkT; lHkk ,oa jk’Vªifr 
(B) yksd lHkk ,oa jkT; lHkk 
(C) yksd lHkk ,oa jkT; fo/kku lHkk  
(D) dsoy yksd lHkk 

12. Who was the first Deputy Prime Minister of India: 
(A) Lal Bahadur Shastri 
(B) Chowdhary Devi Lal 
(C) Sardar Vallabh Bhai Patel ANS. 
(D) Morarji Desai 

12. Hkkjr ds çFke miç/kkuea=h dkSu Fks% 

(A) yky cgknqj “kkL=h 
(B) pkS/kjh nsoh yky 
(C) ljnkj cYyHkHkkbZ iVsy 
(D) eksjkjth nslkbZ 

13. Pandit Bhimsen Gururaj Joshi is: 
(A) An exponent of flute 
(B) A Hindustani Vocalist ANS. 
(C) An exponent of Sitar 
(D) An Odissi dancer 

13. if.Mr Hkhelsu xq:jkt tks”kh gSa% 

(A) ckWlqjh ds çfriknd 
(B) ,d fgUnqLrkuh xk;d 
(C) flrkj ds çfriknd 
(D) ,d vksfMlh urZd 

14. Hirakud dam has been built on the river: 
(A) Ganga (B) Mahanadi ANS. 
(C) Brahmaputra (D) Kaveri 

14. ghjkdqM cka/k fdl unh ij cuk gS% 

(A) xaxk (B) egkunh 
(C) czãiq= (D) dkosjh 

15. Right to property is a: 
(A) Legal Right ANS. 
(B) Social Right 
(C) Fundamental Right 
(D) Directive Principle 

15. lEifÙk dk vf/kdkj gksrk gS% 

(A) dkuwuh vf/kdkj 

(B) lkekftd vf/kdkj 

(C) ekSfyd vf/kdkj 

(D) funs”kkRed fl)kUr 

16. ‘Richa Mishra’ is a name associated with which sports: 
(A) Wrestling 
(B) Shooting 
(C) Swimming ANS. 
(D) Table Tennis 

16. ^fjpk feJk* dk uke fdl [ksy ls lEcfU/kr gS% 

(A) dq”rh 
(B) fu”kkusckth 
(C) rSjkdh 
(D) Vscy&Vsful 
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17. The National sports day is observed on: 
(A) August 29 ANS. (B) August 15 
(C) August 5 (D) August 25 

17. jk’Vªh; [ksy fnol euk;k tkrk gS% 

(A) vxLr 29 (B) vxLr 15 
(C) vxLr 5 (D) vxLr 25 

18. Which of the following organs is affected in ‘SARS’ 
disease: 
(A) Kidney  (B) Heart 
(C) Lung ANS.  (D) Liver 

18. ^lklZ* jksx fdl vax dks çHkkfor djrh gS% 

(A) o`ô (B) ân; 
(C) QsQM+k (D) ;Ñr 

19. Amsterdum is the capital of which country: 
(A) Holland ANS.  (B) Poland 
(C) Spain  (D) Norway 

19. ,eLVZMe fdl ns”k dh jkt/kkuh gS% 

(A) gkySaM (B) iksySUM 
(C) Lisu (D) ukosZ 

20. “Badrinath” the famous Hindu shrine is located on the 
bank of: 
(A) Mandakini (B) Bhagirathi 
(C) Ganga (D) Alaknanda ANS. 

20. çfl) rhFkZ ßcæhukFkÞ fdl unh ds fdukjs fLFkr gS% 

(A) eankfduh (B) HkkxhjFkh 
(C) xaxk (D) vyduank 

21.   Todarmal was associated with: 
(A) Music 
(B) Literature 
(C) Land Revenue Reforms ANS. 
(D) Law 

21.   VksMjey fdlls lEcfU/kr gSa% 
(A) laxhr 
(B) lkfgR; 
(C) yxku lq/kkj 
(D) fof/k 

22.   Material for sealing wax called ‘lac’ comes from: 
(A) Low Quality coal 
(B) Scales of a fish 
(C) Secretion of an insect ANS. 
(D) Gum of a tree 

22.   eqgjcUnh ekse ftls ^yk[k* dgrs gSa ;g inkFkZ feyrk gS% 
(A) fuEu Lrjh; dks;ys ls 
(B) eNyh ds “kYd ls 
(C) dhV ds lzko ls 
(D) isM+ ds xksan ls 

23.   Which of the following cities has an atomic power plant: 
(A) Narora ANS. (B) Panipat 
(C) Wardha (D) Patna 

23.   fuEufyf[kr esa ls fdl “kgj esa ,d v.kq”kfä la;a= gS% 

(A) ujkSjk (B) ikuhir 
(C) o/kkZ (D) iVuk 

24.   The names of soldiers inscribed on the India Gate in 
Delhi pertain to: 

(A) World war –I ANS. 
(B) World Wars –I and II 
(C) Post Independence wars 
(D) World war –II 

24.   fnYyh fLFkr bf.M;k xsV ij vafdr lSfudksa ds uke lEcfU/kr gSa% 

(A) çFke fo”o&;q) ls  

(B) çFke ,oa f}rh; fo”o&;q) ls 

(C) Lora=rk ds i”pkr~ ;q) ls 

(D) f}rh; fo”o&;q) ls 

25.   The monetory unit of Bangladesh is: 
(A) Rupee (B) Taka ANS. 
(C) Pound (D) Dollar 

25.   caxyk ns”k dh ekSfæd bZdkbZ gS% 
(A) :i;k (B) Vdk 
(C) ikS.M (D) Mkyj 

26.   Full form of AIDS is: 
(A) Anti Immune Deficiency Syndrome 
(B) Auto Immune Deficiency Syndrome 
(C) Acquired Immuno Deficiency Syndrome ANS. 
(D) Acquired Immuno Disease Symptoms 

26.  ,M~l dk iwjk uke D;k gS% 
(A) ,UVh bE;wu fMQhlh,Ulh flUMªkse 
(B) vkVks bE;wu fMQhlh,Ulh flUMªkse 

(C) ,Dok;MZ ,E;wuks fMQhlh,Ulh flUMªkse 
(D) ,Dok;MZ ,E;wuks fMtht flEV~El 

27.   Where is Rameshwaram: 
(A) Andhra pradesh 
(B) Tamil Nadu ANS. 
(C) Gujarat 
(D) Jammu & Kashmir 

27.   jkes”oje dgk¡ gS% 
(A) vkU/kz&çns”k 

(B) rfeyukMq 
(C) xqtjkr 
(D) tEew ,oa d”ehj 
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28.   What was the childhood name of Maharani Laxmi Bai of 
Jhansi: 

(A) Minni (B) Munni 
(C) Manu ANS. (D) Monu 

28.   >kalh  dh jkuh y{eh ckbZ dk cpiu dk uke D;k Fkk% 
(A) feUuh (B) eqUuh 
(C) euw (D) eksuw 

29.   The vitamin found in orange juice is: 
(A) A (B) B 
(C) C ANS. (D) D 

29   ukajxh ds jl esa dkSu lh foVkfeu ikbZ tkrh gS% 
(A) , (B) ch 
(C) lh (D) Mh 

30.   In which part of the body are red blood cells produced: 
(A) Adrenal gland 
(B) Liver 
(C) Bone Marrow ANS. 
(D) Heart 

30.   “kjhj ds fdl vax esa yky jä df.kdk,a curh gSa% 

(A) ,Mªhuy xzfUFk 
(B) ;Ñr 
(C) vfLFk eTtk 

(D) ân; 

31.   The income of Ram is 20% less than Shyam. then Shyam’s 
income is greater than Ram’s by: 

(A) 20% (B) 25% ANS. 
(C) 30% (D) 15% 

31.   jke dh vk; “;ke dh vk; ls 20% de gSA rks “;ke dh vk; jke 

dh vk; ls fdruh çfr”kr T;knk gksxh% 

(A) 20% (B) 25% 
(C) 30% (D) 15% 

32.   A triple successive discount of 20%, 10% and 5% is 
equal to a single discount of: 

(A) 40% (B) 35% 
(C) 31.60% ANS. (D) 25.7% 

32.   20%, 10% ,oa 5% ds Øe”k% rhu NwV fdl ,d vdsys NwV ds 

cjkcj gksxk% 

(A) 40% (B) 35% 
(C) 31.60% (D) 25.7% 

33.   Three consecutive numbers have a total of 84. What is 
the total of the first two numbers: 

(A) 75 (B) 65 
(C) 55 ANS. (D) 45 

33.   rhu Øfed la[;kvksa dk ;ksx 84 gS rks çFke nks la[;kvks dk ;ksx D;k 

gksxk% 

(A) 75 (B) 65 
(C) 55 (D) 45 

34.   The average marks obtained by 20 students is 45. The 
average of first ten is 50 and of last nine is 40. What are the 
marks obtained by the 10th student: 

(A) 30 (B) 0 
(C) 40 ANS. (D) 45 

34.   20 fo|kfFkZ;ksa }kjk çkIr vadks dk vkSlr 45 gSA çFke 10 ds vadks dk 

vkSlr 50 gS vkSj vfUre 9 ds vadks dk vkSlr 40 gSA nlosa fo|kFkhZ }kjk 
çkIr vad gksxk% 

(A) 30 (B) 0 
(C) 40 (D) 45 

35.   A person after 4 years will be twice as old as his son. 
The sum of their ages is 46. What is the son’s age today: 

(A) 16 Years 
(B) 14 Years ANS. 
(C) 15 Years 
(D) 13 Years 

35.   ,d O;fä dh mez pkj o’kZ i”pkr vius iq= dh vk;q dh nqxquh gksxhA 

nksuksa ds vk;q dk ;ksx 46 o’kZ gSA iq= dh vk;q bl le; D;k gksxh% 

(A) 16 o’kZ 
(B) 14 o’kZ 
(C) 15 o’kZ 
(D) 13 o’kZ 

36.   The compound interest on Rs. 4000 at the rate of 10% 
for two years is: 

(A) Rs. 840 ANS. (B) Rs. 820 
(C) Rs. 780 (D) Rs. 860 

36.   4000 :- ij 10% dh nj ls nks o’kZ dk pØo`f) C;kt gksxk% 

(A) 840 :- (B) 820 :- 
(C) 780 :- (D) 860 :- 

37.   If the radius of a circle is increased by 100% then the 
area is increased by: 

(A) 400% 
(B) 300% ANS. 
(C) 200% 
(D) None of these 

37.   ;fn fdlh o`r dh f=T;k 100% ls o`f) dh tk; rks mlds {ks=Qy esa 

fdrus çfr”kr dh o`f) gksxh% 

(A) 400% 
(B) 300% 
(C) 200% 
(D) buesa ls dksbZ ugha 
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38.   A man can row with the stream at 6 Km/Hr. and against 
the stream at 4 Km/Hr. Find the speed of the current: 

(A) 5 Km (B) 4 Km 
(C) 1 Km ANS. (D) None of these 

38.   ,d O;fä ;fn unh ds cgko ds lkFk 6 fdeh- çfr ?kaVs dh nj ls uko 
pykrk gS vkSj cgko ds foijhr 4 fdeh- çfr ?kaVs dh nj ls] rks ty çokg 
dh xfr D;k gksxh% 

(A) 5 Km (B) 4 Km 
(C) 1 Km (D) buesa ls dksbZ ugha 

39.   (3)4+(2)4+2×0.25 is equal to: 
(A) 69.5 (B) 79.5 
(C) 97.5 ANS. (D) 96.5 

39.   (3)4+(2)4+2×0.25 = 
(A) 69.5 (B) 79.5 
(C) 97.5 (D) 96.5 

40.   The average age of a group of 40 students in a bus is 8 
years. When the conductor’s age is included the average age 
is increased by one year. The age of the conductor is: 

(A) 40 years (B) 45 years 
(C) 49 years ANS. (D) 50 years 

40.   ,d cl esa 40 fo|kfFkZ;ksa ds ,d xzqi dh vkSlr vk;q 8 o’kZ gSA tc 
ifjpkyd dh vk;q blesa lfEefyr fd;k tkrk gS rks vkSlr vk;q ,d o’kZ ls 

c<+ tkrk gSA ifjpkyd dh mez D;k gksxh% 

(A) 40 o’kZ (B) 45 o’kZ 
(C) 49 o’kZ (D) 50 o’kZ 

41.   Value of 253  will be: 
(A) 14625 (B) 15625 ANS. 
(C) 16625 (D) None of these 

41.   253 dk eku gksxk% 

(A) 14625 (B) 15625 
(C) 16625 (D) buesa ls dksbZ ugha 

42.   The Product of two numbers 1923 and 172 is 330756. Then 
the product of 19.23 and 0.172 is: 

(A) 3.30756 ANS. (B) 33.0756 
(C) 330.756 (D) 3307.56 

42.   nks la[;kvksa 1923 ,oa 172 dk xq.kuQy 330756 gS] rks 19.23 ,oa 
0.172 dk xq.kuQy D;k gksxk% 

(A) 3.30756 (B) 33.0756 
(C) 330.756 (D) 3307.56 

43.   Of the three numbers, first is twice the second and 
second is twice the third. The average of the three numbers is 
21. Find the largest number of the three: 

(A) 36 ANS. (B) 38 
(C) 47 (D) 48 

43.   rhu la[;kvksa esa igyh la[;k nwljh la[;k dh nqxquh rFkk nwljh la[;k 

rhljh la[;k dh nqxquh gSA vkSj rhuksa la[;kvksa dk vkSlr 21 gSA rks rhuksa esa 
lcls cM+h la[;k gS% 

(A) 36 (B) 38 
(C) 47 (D) 48 

44.   Two numbers are respectively 20% and 50% more than a 
third number. The percentage that is first of the second is: 

(A) 20% (B) 50% 
(C) 70% (D) 80% ANS. 

44.   nks la[;k,a rhljh la[;k ls Øe”k% 20 çfr”kr ,oa 50 çfr”kr vf/kd 

gS] igyh la[;k nwljs dh fdrus çfr”kr gS% 

(A) 20 çfr”kr (B) 50 çfr”kr 
(C) 70 çfr”kr (D) 80 çfr”kr 

45.   In which State ‘Kanha’ National Park is situated: 
(A) Rajasthan 
(B) Uttar Pradesh 
(C) Madhya Pradesh ANS. 
(D) Gujarat 

45.   ^dkUgk us”kuy ikdZ* fdl jkT; esa fLFkr gS% 
(A) jktLFkku 
(B) mÙkj çns”k 
(C) e/; çns”k 
(D) xqtjkr 

46.   Who gave the slogan ‘Jai Hind’: 
(A) Sardar Patel 
(B) Subhash Chandra Bose ANS. 
(C) Jawahar Lal Nehru 
(D) Mahatma Gandhi 

46.   ^t; fgUn* dk ukjk fdlus fn;k Fkk% 
(A) ljnkj iVsy 
(B) lqHkk’k pUæ cksl 
(C) tokgj yky usg: 
(D) egkRek xka/kh 

47.   Distance of Stars from the Earth is measured in: 
(A) Light year ANS. 
(B) Nautical miles 
(C) Kilometers 
(D) Miles 

47.   i`Foh ls rkjksa dh nwjh fuEu esa ukih tkrh gS% 
(A) çdk”k o’kZ 
(B) leqæh ehy 
(C) fdyksehVj 
(D) ehy 

48.   In the national emblem, which animal does not figure: 
(A) Lion  (B) Horse  
(C) Peacock ANS. (D) Bull 

48.   jk’Vªh; fpUg esa dkSu&lk ,d tkuoj ugha gS% 
(A) “ksj (B) ?kksM+k 
(C) eksj (D) lkaM 
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49.   Who among the following was the first woman ruler of 
India: 

(A) Razia Sultan ANS. 
(B) Chand Bibi  
(C) Nurjahan 
(D) Mumtaj Mahal 

49.   fuEufyf[kr esa ls dkSu Hkkjr dh izFke efgyk “kkld Fkh% 
(A) jft+;k lqYrku 
(B) pk¡n chch 
(C) uwjtgk¡ 
(D) eqerkt egy 

50.   The civil disobedience movement began in: 
(A) 1930 ANS. (B) 1934  
(C) 1935 (D) None of these 

50.   tu&vlg;ksx&vkUnksyu fdl o’kZ vkjEHk gqvk% 

(A) 1930 (B) 1934 
(C) 1935 (D) buesa ls dksbZ ugha 

51.   When does a bill passed by the Parliament become a 
 law: 

(A) After assent by the President ANS. 
(B) After consent by Law Minister 
(C) After consent by Chief Justice 
(D) After consent by the Prime Minister 

51.   laln }kjk ikfjr fo/ks;d dc dkuwu curk gS% 
(A) jk’Vªifr dh LohÑfr ds i”pkr~ 
(B) fof/kea=h dh LohÑfr ds i”pkr~ 
(C) eq[;U;k;k/kh”k dh LohÑfr ds i”pkr~ 
(D) iz/kkuea=h dh LohÑfr ds i”pkr~ 

52.   Jama Masjid was built by: 
(A) Jehangir (B) Humayun 
(C) Shahjahan ANS. (D) Aurangzeb  

52.   tkek efLtn fdlus cuok;k% 
(A) tgkaxhj (B) gqek;w¡ 
(C) “kkgtgka (D) vkSjaxt+sc 

53.   The famous folk dance of Rajasthan is called: 
(A) Ghumar ANS. (B) Gidda 
(C) Kathak (D) Garba 

53.   jktLFkku dk izfl) yksd u`R; dgykrk gS% 

(A) ?kwej (B) fx)k 

(C) dRFkd (D) xjck 

54.   Which is the longest day of the year in the Northern 
Hemisphere: 

(A) 21 June ANS. (B) 21 July  
(C) 22 March  (D) 22 December 

54.   mÙkjh xksyk)Z esa o’kZ dk lokZf/kd yEck fnu dkSu lk gksrk gS% 

(A) 21 twu (B) 21 tqykbZ 
(C) 22 ekpZ (D) 22 fnlEcj 

55.   Which blood group is considered as a universal donor: 
(A) A (B) B 
(C) AB (D) O ANS. 

55.   dkSu lk CyM xzqi okyk lHkh dks [kwu ns ldrk gS% 
(A) ,  (B) ch 
(C) , ch (D) vks 

56.   Red clour of  human blood is due to: 
(A) Haemoglobin ANS. 
(B) Haemocyanin 
(C) Erythrocrurin 
(D) Chlorocrurin 

56.   euq’; dk jä yky fdlds }kjk gksrk gS% 

(A) gheksXyksfcu 
(B) ghekslk;fuu 
(C) bjk;FkzksØwfju 
(D) DyksjksØwfju 

57.   What is the chemical name of bleaching powder: 
(A) Calcium Carbonate 
(B) Calcium hypochlorite ANS. 
(C) Calcium Phosphate  
(D) Calcium Cyanamide 

57.   fojatd pw.kZ ¼fCyfpax ikmMj½ dk jklk;fud uke D;k gS% 
(A) dSfY”k;e dkcksZusV 
(B) dSfY”k;e gkbiksDyksjkbV 
(C) dSfY”k;e QkLQsV 
(D) dSfY”k;e lkbukekbM 

58.   Velocity of wind is measured by: 
(A) Speedometer 
(B) Tachometer  
(C) Anemometer ANS. 
(D) Audiometer 

58.   ok;q ds osx dks fdlls ekik tkrk gS% 
(A) LihMksehVj 
(B) VsdksehVj 
(C) ,uheksehVj 
(D) vkfMvksehVj 

59.   There is a temperature at which degree Fahrenhight and 
degree centigrade have the same numerical value. This numerical 
value is: 

(A) –32° (B) –40° ANS. 
(C) 0° (D) 32° 

59.   ,d rkiØe ftl ij fMxzh QkWjsugkbV vkSj fMxzh lsaVhxzsM dk la[;kRed 

eku leku gksrk gSA ;g la[;kRed eku gS% 

(A) –32° (B) –40° 
(C) 0° (D) 32° 
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60.   Goiter is caused due to deficiency of: 
(A) Iodine ANS. (B) Iron 
(C) Calcium (D) Thiamine 

60.   ?ksa?kk jksx fdldh deh ls gksrk gS% 
(A) vk;ksMhu (B) ykSg rRo 
(C) dSfY”k;e (D) Fkkbfeu 

61.   In a adult the number of bones is: 
(A) 212 (B) 208 
(C) 206 ANS. (D) 220 

61.   ,d o;Ld O;fä ds “kjhj esa gfì;ksa dh la[;k gksrh gS% 

(A) 212 (B) 208 
(C) 206 (D) 220 

62.   The capillary action phenomenon of water climbing up a 
narrow tube dipped in water is due to:  

(A) Surface friction 
(B) Surface tension ANS. 
(C) Atmospheric pressure 
(D) Differential temperature 

62.   ty esa Mwch ,d ldjh uyh esa ikuh ds Åij p<+us dh ty dh dsf”kdk 

fØ;k lao`fr dk dkj.k gS% 

(A) i`’Bh; ?k’kZ.k 
(B) i`’Bh; ruko 
(C) okrkoj.kh; ncko 
(D) vody rkiØe 

63.   A stone lying at the bottom of a pond appears to be at a 
higher point than it actually is due to the phenomena of: 

(A) Diffraction of light (B) Scattering of light 
(C) Reflection of light (D) Refraction of light ANS. 

63.   ,d rkykc ds ry esa iM+k gqvk ,d iRFkj ,d mPp fcUnq ij jD[kk 

gqvk çrhr gksrk gS tgk¡ ;g okLro esa gS] fdl lao`fr ds dkj.k gS% 

(A) çdk”k dk foorZu (B) çdk”k dk fc[kjko 
(C) çdk”k dk ijkorZu (D) çdk”k dk viorZu 

64.   In human males how many pairs of chromosomes are 
present: 

(A) 22 pairs + XX (B) 22 pairs + XY ANS. 
(C) 23 pairs + XX (D) 23 pairs + XY 

64.   ,d iq:’k esa fdrus tksM+s ØksekslksEl gksrs gSa% 

(A) 22 tksM+s + XX (B) 22 tksM+s + XY 
(C) 23 tksM+s + XX (D) 23 tksM+s + XY 

65.   Which of the following fraction is the largest: 
(A) 8/13 ANS. (B) 7/12 
(C) 6/11 (D) 5/10 

65.   fuEu esa ls lcls cM+h fHkUu dkSu&lh gS% 

(A) 8/13 (B) 7/12 
(C) 6/11 (D) 5/10 

66.   If one half of a number is 8 more than 1/3 of that number, 
the number is: 

(A) 36 (B) 48 ANS. 
(C) 52 (D) 60 

66.   ;fn fdlh la[;k dk vk/kk mlds frgkbZ ls 8 vf/kd gS] rks og la[;k 

crk,a% 

(A) 36 (B) 48 
(C) 52 (D) 60 

67.   If sum of cubes of two consecutive numbers is 91, the 
numbers are: 

(A) 1, 2 (B) 2, 3 
(C) 3, 4 ANS. (D) 4, 5 

67.   ;fn Øe”k% nks la[;kvksa ds ?ku dk ;ksx 91 gS] rks os la[;k;sa crk,a% 

(A) 1, 2 (B) 2, 3 
(C) 3, 4 (D) 4, 5 

68.   What is the least number that must be substracted from 
 380 to make it perfect square: 

(A) 56 (B) 30 
(C) 19 ANS. (D) 5 

68.   og NksVh ls NksVh la[;k crkvks ftls 380 esa ?kVk;k tk;s rks og iw.kZ 
oxZ cu tk;s% 

(A) 56 (B) 30 
(C) 19 (D) 5 

69.   A shopkeeper sells tea at Rs. 80/- per kg and loses 20%. 
At what rate should he sell tea per kg to make a profit of 10%: 

(A) Rs. 90 (B) Rs. 100 
(C) Rs. 120 (D) Rs. 110 ANS. 

69.   ,d nqdkunkj dks :- 80/- çfr fdyksxzke dh nj ls pk; cspdj 20% 

dk gkfu gksrk gSA 10% dk ykHk vftZr djus ds fy, mls fdl nj ij pk; 

cspuk pkfg,% 

(A) :- 90 (B) :- 100 
(C) :- 120 (D) :- 110 

 

70.   125 metres long train will cross a bridge 375 metres long 
travelling at the speed of 20 km per hr., in: 

(A) 
2
11  minutes ANS. (B) 2 minutes 

(C) 1 minute (D) 
2
12  minutes 

70.   125 ehVj yEch ,d Vªsu 375 ehVj yEcs ,d iqy dks 20 fdyksehVj 
çfr?kaVk dh pky ls pyrs gq, fdrus le; esa ikj djsxh% 

(A) 
2
11  feuV (B) 2 feuV 

(C) 1 feuV (D) 
2
12  feuV 

 



 [ 8 ]

 

71.   If ten men do a task in 7 days and 5 go away after four days, 
how many extra men are required to finish the remaining work in 
one day: 

(A) 15 (B) 20 
(C) 25 ANS. (D) 30 

71.   ;fn 10 vkneh ,d dk;Z 7 fnuksa esa djrs gSa vkSj pkj fnuksa ckn 5 vkneh 

pys tkrs gSa rks “ks’k dk;Z dks ,d fnu esa iwjk djus ds fy, fdrus vfrfjä O;fä;ksa 

dh vko”;drk gksxh% 

(A) 15 (B) 20 
(C) 25 (D) 30 

72.   If a clock starts at noon then the angle turned by the 
hour hand at 5:30 PM is: 

(A) 150° (B) 175° 
(C) 165° ANS. (D) 145° 

72.   ;fn ,d ?kM+h nksigj esa vkjEHk gksrh gS rks 5:30 PM ij ?kaVs okyh lqb± 

}kjk ?kwek x;k dks.k fdrus va”k dk gksxk% 

(A) 150° (B) 175° 
(C) 165° (D) 145° 

73.   If Ram earns %
3
133 more than Shyam, then Shyam earns 

less than Ram by: 

(A) %
3
133  (B) 25% ANS. 

(C) %
3
216  (D) 20% 

73.   ;fn jke “;ke ls %
3
133  T;knk dekrk gS rks “;ke jke ls fdruk de 

dekrk gS% 

(A) %
3
133  (B) 25% 

(C) %
3
216  (D) 20% 

74.   In a cricket match A, B, and C together score 147 runs. A 
& B together score 97 runs and B & C together score 80 runs. 
The runs scored by A, B & C are:  

(A) 67, 30, 50 ANS. (B) 70, 30, 47 
(C) 80, 20, 47 (D) 60, 60, 27 

74.   ,d fØdsV eSp esa d] [k ,oa x rhuksa feydj 147 ju cukrs gSaA d ,oa 
[k feydj 97 ju cukrs gSa rFkk [k ,oa x feydj 80 ju cukrs gS rks d] 
[k ,oa x }kjk cuk;k x;k ju gksxk% 

(A) 67, 30, 50 (B) 70, 30, 47 
(C) 80, 20, 47 (D) 60, 60, 27 

75.   Which of the following fraction is the smallest: 
(A) 4/5 ANS. (B) 5/6 
(C) 6/7 (D) 7/8 

75.   fuEu esa ls lcls NksVh fHkUu dkSu&lh gS% 

(A) 4/5 (B) 5/6 
(C) 6/7 (D) 7/8 

 
 

DIRECTIONS: In the following question choose the word opposite in meaning to the given word. 

76.   CURTAIL: 
(A) Mutter 
(B) Lengthen ANS. 
(C) Shorten 
(D) Express 

DIRECTIONS: In the following question choose the word opposite in meaning to the given word. 

77.   DIVISIVE: 

(A) Unifying ANS. 
(B) Derisive 
(C) Multiply 
(D) Acceptable 

DIRECTION: A sentence has been given with a blank space. Pick the suitable choice to fill the blank according to good usage of the 
language. 

78.   The habit of chewing tobacco has been growing ........... him: 

(A) With 
(B) Upon ANS. 
(C) On 
(D) Over 
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DIRECTION: A sentence has been given with a blank space. Pick the suitable choice to fill the blank according to good usage of the 
language. 

79.   I have .......... ............ a good plan to get rid of him: 

(A) Hit upon ANS. 
(B) Hit at 
(C) Hit on 
(D) Come at 

DIRECTION: A sentence has been given with a blank space. Pick the suitable choice to fill the blank according to good usage of the 
language. 

80.   It is a good rule ......... ......... ..........: 

(A) To work by 
(B) To go by ANS. 
(C) To guide by 
(D) To obey with 

DIRECTION: A sentence has been given with a blank space. Pick the suitable choice to fill the blank according to good usage of the 
language. 

81.   This argument will not hold .............: 

(A) Worth 
(B) Water ANS. 
(C) Salt 
(D) Oil 

DIRECTIONS: In the following question pick the wrong spelt word. 

82.    

(A) Implement (B) Akward ANS. 
(C) Immolate (D) Average 

DIRECTIONS: In the following question pick the wrong spelt word. 

83.    

(A) Peripheral (B) Permeable 
(C) Audiance ANS. (D) Perquisite 

DIRECTIONS: In the following question pick the wrong spelt word. 

84.    

(A) Servent ANS. (B) Delinquent 
(C) Abeyance (D) Emolument 

DIRECTIONS: Select the most suitable preposition from the four choices given for each sentence. 

81.   Ritu is born .......... rich parents: 
(A) For (B) Of ANS. 
(C) From (D) By 

DIRECTIONS: Select the most suitable preposition from the four choices given for each sentence. 

86.   He insists .......... leaving immediately: 
(A) Against 
(B) Over 
(C) For 
(D) On ANS. 
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DIRECTIONS: Fill in the blanks in the following using the correct article. 

87.   I met ........ one eyed man on the road: 
(A) A ANS. 
(B) An 
(C) The 
(D) None of these 

DIRECTIONS: Fill in the blanks in the following using the correct article. 

88.   Ram is ........ university student: 
(A) A ANS. 
(B) An 
(C) The 
(D) None of these 

DIRECTIONS: Choose the word from among the four options which is nearest in meaning to the given word. 

89.   ABJECT: 
(A) Cast away (B) Mean 
(C) Worthless ANS. (D) Groveling 

DIRECTIONS: Choose the word from among the four options which is nearest in meaning to the given word. 

90.   AMPLE: 
(A) Unlimited (B) Extravagant 
(C) Abundant ANS. (D) Scanty 

DIRECTIONS: Choose the word from among the four options which is nearest in meaning to the given word. 

91.   DEARTH: 
(A) Abundance (B) Scarcity ANS. 
(C) Vogue (D) End 

INSTRUCTIONS: Choose the opposite of the capitalized words: 

92.   SENILE: 
(A) Bright (B) Old 
(C) Youthful ANS. (D) Intelligent 

INSTRUCTIONS: Choose the opposite of the capitalized words: 

93.   DWINDLE: 
(A) Diminish (B) Develop 
(C) Decay (D) Increase ANS. 

INSTRUCTIONS: Choose the opposite of the capitalized words: 

94.   CLAMOUR: 
(A) Din  (B) Contentment 
(C) Slow (D) Silence ANS. 

DIRECTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

95.    
(A) Enterpreneur (B) Entrepreneur ANS. 
(C) Entrepreuner (D) Enterepreneur 

DIRECTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

96.    
(A) Bureaucracy ANS. (B) Bueraucracy 
(C) Bureucracy (D) Bureuacracy 
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DIRECTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

97.    
(A) Vacume (B) Vaccum 
(C) Vacuum ANS. (D) Vaccume 

DIRECTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

98.    
(A) Disobadiance (B) Disobidiance 
(C) Disobedience ANS. (D) Desobideence 

DIRECTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

99.    
(A) Aknoledgement (B) Acknowledgement ANS. 
(C) Acknolegment (D) Aknolegdement 

DIRECTIONS: In the following question, four spellings are given for a word. Pick the right choice which has the correct spelling. 

100.    
(A) Grammatical ANS. (B) Gramatical 
(C) Grammetical (D) Grammitical 

 
 
 


